
EXERCISES-10

(1) Let G = S3 and X = {0, 1}(
[3]
2 ) =

{
f | f :

(
[3]
2

)
→ {0, 1}

}
. De-

fine φ : G × X → X by φ(σ, f) := g with g (σ{x, y}) :=
f ({x, y}) , or equivalently, g ({x, y}) := f ({σ−1(x), σ−1(y)}).
Here σ{x, y} = {σ(x), σ(y)}. Let f1 be an element of X given
by

f1 :=

(
{1, 2} {1, 3} {2, 3}

1 0 1

)
.

Compute the orbit of f1; i.e., compute

S3f1 = {φ(σ, f1) | σ ∈ S3} .
Compute the stabilizer of f1.

(2) Let G and X be as defined before. Let f2 be an element of X
given by

f2 :=

(
{1, 2} {1, 3} {2, 3}

0 1 1

)
.

Compute the orbit of f2; i.e., compute

S3f2 = {φ(σ, f2) | σ ∈ S3} .
Compute the stabilizer of f2.
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